
1 .Daily Calculations Questions

1 2 3

12 + 11 = 44 + 29 = 347 + 119 =

33 – 15 = 121 – 27 = 463 – 176 =

5 x 0 = 3 x 14 = 8 x  15=

75 divided by 5 = 60 divided by 6 = 88 divided by 8 =

2/4 of 14 = 1/3 of 30 = 2/8 of 80 =



1. Daily Calculations Answers

1 2 3

12 + 11 = 23 44 + 29 = 73 347 + 119 = 466

33 – 15 = 18 121 – 27 = 94 463 – 176 = 287

5 x 0 = 0 3 x 14 = 42 8 x  15 = 120 

75 divided by 5 = 15 60 divided by 6 = 10 88 divided by 8 = 10

2/4 of 14 = 7 1/3 of 30 = 10 2/8 of 80 = 16



2. Daily Calculations Questions

1 2 3

41 + 17 = 28 + 153 = 371 + 515 =

35 – 26 = 143 – 23 = 424 – 247 =

5 x 12 = 3 x 12 = 6 x 15 =

40 divided by 10 = 42 divided by 6 = 96 divided by 8 =

2/4 of 12 = 2/3 of 30 = 2/8 of 40 =



2. Daily Calculations Answers

1 2 3

41 + 17 =58 28 + 153 = 181 371 + 515 = 886

35 – 26 = 9 143 – 23 = 120 424 – 247 = 177

5 x 12 = 60 3 x 12 = 36 6 x 15 = 90

40 divided by 10 = 4 42 divided by 6 = 7 96 divided by 8 = 12

2/4 of 12 = 6 2/3 of 30 = 20 2/8 of 40 = 10



3. Daily Calculations Questions

1 2 3

13 + 23 = 34 + 235 = 323 + 313 =

75 – 34 = 135 – 45 = 246 - 122 =

10 x 12 = 2 x 15 = 9 x 0 =

50 divided by 5 = 24 divided by 3 = 104 divided by 8 =

3/4 of 20 = 3/3 of 24 5/8 of 16 = 



3. Daily Calculations Answers

1 2 3

13 + 23 = 36 34 + 235 = 269 323 + 313 = 636

75 – 34 = 41 135 – 45 = 90 246 - 122 = 124

10 x 12 = 120 2 x 15 = 30 9 x 0 = 0

50 divided by 5 = 10 24 divided by 3 = 8 104 divided by 8 = 13

3/4 of 20 = 15 3/3 of 24 = 24 5/8 of 16 = 10



4. Daily Calculations Questions

1 2 3

19 + 40 = 11 + 164 = 532 + 345 =

21 – 17 = 141 – 68 = 463 – 350 =

5 x 7 = 4 x 12 = 8 x 11 =

20 divided by 5 = 42 divided by 3 = 104 divided by 4 =

1/4 of 28 = 1/3 of 42 = 3/8 of 64 =  



4. Daily Calculations Answers

1 2 3

19 + 40 = 59 11 + 164 = 175 535 +  145 = 680

21 – 17 = 4 140 – 34 = 106 463 – 460 = 3

5 x 7 = 35 8 x 12 = 96 9 x 11 = 99

20 divided by 5 = 4 39 divided by 3 = 13 48 divided by 8 = 6

1/4 of 28 = 7 2/3 of 42 = 28 7/8 of 64 =  56



5. Daily Calculations Questions

1 2 3

12 + 13 = 23 + 731 = 123 + 331 =

67 – 32 = 122 – 22 = 714 – 462 =

2 x 7 = 3 x 9 = 8 x 15 = 

20 divided by 2 = 15 divided by 3 = 78 divided by 6 =

1/4 of 24 = 2/3 of 21 = 6/8 of 80 = 



5. Daily Calculations Answers

1 2 3

12 + 13 = 25 23 + 731 =  754 123 + 331 = 454

67 – 32 = 35 122 – 22 = 100 714 – 462 = 252

2 x 7 = 14 3 x  9 = 27 8 x 15 = 120

20 divided by 2 = 10 15 divided by 3 = 5 78 divided by 6 = 13

1/4 of 24 = 6 2/3 of 21 = 14 6/8 of 80 = 60


